1. Solve for p: X:Zplg\ \

i
X—U=
.
[P="
=2

2. Graph the following system of inequalities and name
one point in the solution.

y=5

y<gx+4

S

3. Simplify:

(8n-3n*+10n%) -(3n°+11n%-7)
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Notes Quiz
Identify the type of polynomial and the degree:

1. 3% 2. -7 3. 9x -3y +z
4, x2+y3 5.3w*-9w’+ 6w+ 9
6. -12g*+15g -9 7. k

Combine like terms:

7x-5x+10x@ 9.(-2c +4) - (5¢ + 6)
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Multiplying Monomials
Rules:
-Must have the same base to multiply!!!

-ADD the exponents when multiplying!!

Examples:

3235 =3 =2187  3x(4xP)|2y>

‘° (10e?)(3g*) (Seh)

)502.°g*h
(A4H0) (B c) 5xy2(-3x°y?)

= i 4 9
~12a”ptc® TIPry

X(x*)(x*) = X



Simplify:
449 =y -5x6(7x%)

_35x [®]
S ()= X (7€*)(5g?)(8eh?)
280 quth
(5a%b3c)(-4a5bc?) 7xy"’(-5x4g)
- ZOQ_’bq C.S - 35X53




Multiplying a monomial an(m

5x*(-7x¢ + 5x3- 9) S
~35%x 9 125%> —dBX

3x®)

248 Y3+ 21 s W= 122Cy°

-2abc(:6a% + 4~erb’-,6b’: + Ef)

\ 2 o i Zc
20 bC—8a bC._‘_\‘%fg%j




You Try:

1 den

(BY24+Z0X

2 4x®§

—24%3yh2o 3“* _2Y Xz‘f

3. -8ab(3a%h? “Tab + b 5)
24 b +S@a >~ alk +0ab




